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o PRI
- BuBE 100,0008x1Mx305] = 3,000
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(2000 APBIHEHI  BH:(2200) S HUMBEAINE B (2220)8H A B2 HIEE: (2220) BANHSHEIH MK : (220) KA ALY RSN EERMESR-EY
2 = S im)
of oF o AF = 9l =

B ME NN = o & M = oA
- JtgAt 120,00021x0. 1m'x508] = 600
- DEXSTM 5,000 x 1kgx50%] = 250
- B 2002 x50kgx508] = 500
- 32IdA 10,00024x100 £ x23 = 2,000
- 32iuc 10,000&x50 £ x13| = 500
- JtE2IX ZH 200,000/ x2H E = 400
o ZTMYH
- AEH 20,00024x3 £ X100 = 6,000
- ZHA 3,0008x10 £ x1002 = 3,000
o MEME
- AEH 20,000&x3 £ x1002 = 6,000
- 2FH 3,0002x10 £ X100 = 3,000
© KIS (SS, s528,944)
- 22101 EPY 20,0002 x500x58] = 5,000
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Zt:(2000) A 3] JH 2B (2200) 2 21 Ay & 8t (2220) &t 22 HIBE: (2229) B AAASESI A MIMIEH: (220) KERI AL = s Bk
2 = H4 = | b im)
H N = 7l ES
.28 NI AIAE = & = oA 2
+EIEHEIRY 2,000,0002x300 = 6,000
BEHES NASA 10,0002 x60m = 600
FUHNE M2 2ERY 50,0008x20& = 1,000
g2s 7 40,0002 x45x63| = 960
JIH 2 Bi2AHIE N2
3,000,000 x 14! = 3,000
AL 20,0002 x4 Ax63] = 480
EE dU7Y 1,5002x5,000m = 7,500
207
o1 K | 37,100 47,700 A10,600
33,000 43,000 A10,000/01 <
o SSIHAZSYTHBA AISSHAISETA SH(SAISHIIY)
33,000,0002 x 14! = 33,000
4,100 4,700 AB00|03 AlE XY
o FAUEMSEIIF 50,0002 x155x28] = 1,500
o #ABHR A 30,0002 x105x43 = 1,200
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Z:(2000)APSIHE ] 2H:(2200) BHUMBEZNE B (2220) 822 MIg: (2220) B AASISEEIH  NIAIS: (220) KM A [BAANSSHE] [S:@e]
2 = S i)
o & = At = 0 2
.2 8 NE . HMAE = of & % = A
o +E=FE JIH.0I7 200,0008x7E = 1,400
307
0I2+0I & 7,082,124 7,214,502 132,378
7,082,124 7,214,502 A132,378(05 RI2t9IEt3
o SagMyd ™28 2 Hell
- ZsFY 1,7602/x98,000MI Cx 128 = 2,069,760
- s 112,0308Ix1,400Ex128 = 1,882,104
o WEESMEMEISH SIS 43,000,0002x128 = 516,000
o BSFY MBHIISHIRY +48
2,56321x85,0004I CHx 12 = 2,614,260
401
Alable s 95,000 657,240 N562,240
CH bl
95,000 654,000 A559,000(01 Al&H
o CRHHAX 42 3,000,0002Ix304 = 9,000
o SSEHAMWYE HFIIAUIIA HABA
10,000, 0008 x 14! = 10,000
o YLHIYH S HXSA
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I (2000)ALSI NI B:(2200) B HUMBEA N B (2200) B 2HE Mg (2220) B AAISESIH MM : (220) KM ALY [BAANSSESIH] [ &2
i = S == S i}
of &b o AF 2 ol =
.28 NE . HAE = of & % = oA
2,000,0002 x37H & = 6,000
o &H Had 20,000,000&x14! = 20,000
o YUIYY HE4MS BDT L 2 WA
2,500,000 x6CH = 15,000
o YA HIHTA 35,000,00084x 14! = 35,000
402
BI2tX =0 10,000 0 10,000
&
10,000 0 10,000 01 QIR X
o PEZ MOISHEEFED &X
10,000,0002/x 14! = 10,000
405
PAISESEST] 141,100 519,795 378,695
141,100 519,795 N378,695|01 XAt 2EF S|
o HAXY Y
- UEN)Y 5E(FS) 55,000,000&x1CH = 55,000
- XY 58 43,000,0008x1CH = 43,000
o BFAHA(00)HIED 4,000,0002x14! = 4,000
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& (2000) AFSIOHEH] 21 (2200) 2 H L A S A & (2220)&8HE 22 MIEH:(2220) B AANLELESIH  MAME:(220) AL SR & ]
ot = [
A b o = u] im) o
.2 & HEL NAE =2 & oA s A&
HAS01E 5,000,000 x 14 5,000
= AHD| 3,500, 000& x 1CH 3,500
SSENMHEH A 5,000,000 x 14! 5,000
ME=E 20|22 D (AHH014)
5,000,000& x5 25,000
HE2ATHESH 2 HEE P2
300, 000& x2CH 600
300
TR A 696,000 154,500 541,500
310
K 2T A & 696,000 154,500 541,500
311
INEEE=L0IDN; 196,000 154,500 41,500
196,000 154,500 41,500 SUAHEF X = A0 At
SSMYDINEEELAE
5,000,000, 000& x3.92% 196,000
601
222 500,000 0 500,000
500,000 0 500,000 SAHEXNL SIS AE
SSMYIIHEE LA = 500,000
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F:(2000) AFRIDHEEH]  2:(2200) B AL MEHSHAO A & (2220) 8HE 22| MIEh: (2220) HAANHELY|H  AIAISH: (410)0lHI B [HAANLEHSH ][]
o = ¥ oa g o
ol o o i - A = 5 =
DB E B HAE o o A M| = oA 2
400
RS 3.312.860  4.383.985| A1,071.125
410
ol bl 2.666.686  3.937.516] A1,270.830
801
0 bl 2666686  3.937.518 A1,270,830 = 0ldlb 2,666,686,0002 = 2,666,686
420
JIEH 646, 174 446,469 199,705
702
J2EE 646,174 446,469 199,705/ SEMAINLRZHNA (MBS, /2) TN
4,176,924, 0002110/ 100 - 417,693
o SEMAINMLEFTHNA FOIXAD('03.'0490IX22)
1,939,639, 34021x10/100 - 193,964
o HYZB(ZARLD) 28, 8602 x42x2002 = 34,517
NoE & o 32,500,000 32,170,000 330,000
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